CHAMPION

/

VINniocTpUPOBaHHbIit kaTanor 3anacHblx yacteit (06.05.2020) LMA4622(T6)

c
1

Ne | ApTukyn HanmeHoBaHue L Ne | Aptukyn HanmeHoBaHue )2
1160100030000 | Bont kpenneHus Hoxa 3/8-24UNF 50 mm | 1| 22 | 60370020000 | Konbuo ynnotHutensHoe 11,2x2,65 1
2 | 70040070000 | Laiba kpenneHus Hoxa 11 23 | 20590020000 | 3arnywka 1
3 | C5178 Hox 11 24 | 20160230000 | 3arnywwka Ans MynbYMpOBaHNS 1
4 | 70140390000 | AmanTtep Hoxa 11 25 | 70250110000 | CekTop 3y6uaTbii yCT. BbICOTHI 1
5 | 60060390000 | Bont M8x25 31 26 | 70070300000 | KpOHLUTENH PYKOATKM NpaBblid 1
6 | 70280040130 | 3arnywka geku 3aaHss 11 27 | 60040020000 | BonT mebenbHbIn M8x15 2
7 | 60150060000 | lanka M5 2|l 28 | 70030060000 | Ocb noBopoTa BOKOBOW 3armyLUKL 1
8 | 60060040000 | Bont M5x10 21 29 |60390070000 | MpyxuHa 1
10 | 60060520000 | Bont M6x12 21l 30 |20120080000 | Kpbiwka oTceka 60koBOro Bbibpoca 1
11 | 60150080000 | ramka M6 21 31 |20110100000 | Hanpaenstowas 60koBoro Beibpoca 1
12 | 70740651130 | [Jeka (waccw) 1] 32 | 70060060130 | Ckoba 1
13 | 60410080000 | MpyxmMHa MexaHu3Ma BbibOpa BbICOTbI 11 33 | 60170580000 | BuHT camoHapesatowmit M6x10 2
14 | 70180270000 | Tsira MmexaHu3Ma BblOOpa BbICOTbI 11 72 | 20650200000 | Kopnyc 3awenkv 6okoBoro Bbibpoca 1
15| 60300030000 | LUnawnHT 2| 73 | 20490090000 | 3awenka 1
16 | 60150090000 | ranka M8 6| 74 | 60380600000 | MpyxuHa 1
17 | 60060170000 | Bont M8x16 41 75 | 60200610000 | MnactuHa 1
18 | 60060170000 | KpOHLUTENH pyKOSTKW NEBbIN 11 76 | 60170300000 | BuHT camoHapesatoLmit 4,2x14 2
20 | 20460030000 | laitka WwTyuepa 11 90 | 20200160000 | Haknagka aekv nepegHss 1
21 | 20460010000 | LWtyuep Ans nogkmoueHns Bogsl 11 91 | 60170290000 | BuHT camoHapesatowumit 6,3x14 4

1

Crp.




c]
"HAMP I 0N WnntocTprpoBaHHbIi kaTanor 3anacHsix yacten (06.05.2020)

LM4622(T6)

Ne | ApTukyn HaumeHoBaHue L | Ne | Aptukyn HaumeHoBaHue z
10 | 60060520000 | Bont M6x12 4 | 38 | 70290050000 | MnacTtuHa kpenn. 3agH. OcK NpaBas 1
11 | 60150080000 | lainka M6 4 | 39 | 70290370000 | MnactuHa kpenn. 3agH. ocv nesas 1
16 | 60150090000 | aika M8 4 || 40 | 20620180230 | Konnak 3agHero koneca 2
34 | 20620080230 | Konnak nepeaHero koneca 2 |l 41 | 20880310000 | Koneco 3agHee 2
35 | 20880300000 | Koneco nepegHee 2 || 42 | 70850541000 | Ocb 3agHuX Konec 1
36 | 60180110000 | LLlanba BonHuctas 14,2x20,7x0,5 43 | 20270010780 | Pykositka pblvara Bbibopa BbICOTbI 1
37 | 70840170000 | Ocb nepeaHss 44 | 20430030060 | Brynka kpenneHus ocu 2

Crp. 2




"HAMP JON VINniocTpUPOBaHHbIit kaTanor 3anacHblx yacteit (06.05.2020) LMA4622(T6)

Ne | ApTukyn HaumeHoBaHue Z || Ne | Aptukyn HaumeHoBaHue z
9 | 60170290000 | BuHT camoHapesatoLwmin 6,3x14 8 || 49 | 60380240000 | MNpyxwHa 1
15 | 60300030000 | WnauHT 2 || 50 | 20750070000 | YnnoTHuTenb 1
45 | 20050080003 | TpaBOCOOPHUK, HIKHSS YaCTb 1 51 | 20380090000 | Kpbliwka oTceka TpaBocOOpHUKa 1
46 | 70010090000 | Pamka TpaBocBopHuKa 1 || 52 | 70040100000 | Llanba keagpatHast 4
47 | 60220010000 | LUanba cronopHas 2 | 53 | 20080090000 | TpaBOoCOGOPHWK, BEPXHSS YacTb 1
48 | 70030050000 | Ocb KpblLLKKM OTCEKA TPABOCOOPHMKA 1| 54 | 21010010000 | TpaBOCOOPHUK, CPeaHsA YacTb 1

Crp. 3




c]
"HAMP I o-N WnntocTprpoBaHHbIi kaTanor 3anacHsix yacten (06.05.2020)

/1

9¢

LM422(T6)
:

567N \
D
56 1
’V
SEANS
6
6
6
Ne | ApTukyn HanmmeHoBaHue L | Ne | Aptukyn HaumeHoBaHue z
11 | 60150080000 | larka M6 2 | 65 | 60200470000 LLlan6a 8,5x16x2 4
16 | 60150090000 | lanka M8 2 || 66 | 20040050780 laiika bapalukosast M8 2
17 | 60060170000 | Bont M8x16 2 || 67 | 60140080000 laitka M8 4
55 | 20340060130 | Haknapka pykosiTKu 1] 68 | 20240020000 XomyTt 1
56 | 70500550130 | PykosiTka, BEpXHAS YaCTb 1 69 | 70810050000 Tpoc BbIKMOYEHNS ABUraTeNs 1
57 | 20030030000 | OrpaHuumTenb xoda pblyara 14 70 | 70050120000 [epxatens Tpoca 1
58 | 60060590000 | Bont M6x30 2 Il 71 | 70540083780 Pblyar BbIkmtoueHns aBuraTens 1
59 | 70230090000 | [OepxaTenb pyKosTKu CTapTepa 11 92 | 60060950000 bont M5 4
60 | 60130020000 | laitka M6 11 93 | 20570030000 Haknapgka pykosiTku 1
61 | 20040070780 | laitka bapalukosas M8 2 | 94 | 60180070000 LLanba 4
62 | 60110040000 | Bont ¢ courypHoi wnsnkon M8x50 2 | 95 | 60190030000 LLlanba 6x18x1,6 4
63 | 70520210130 | PykosTKa, HXHSAS YacTb 11 96 | 60150060000 lanka M5 4
64 | 60040090000 | Bont mebenbHbIn M8x30 2

Crp. 4




"HAMP JON VnniocTpupoBaHHbIit kaTarnor 3anacHbix yacteit (06.05.2020) LM4622(T6)
211 ¢ C aTou cTpaHuubl 1 ganee
03104 26 S~ o3

paccmaTpunBaroTCA KOMMOHEHTbI
asurartend, Hymepauud
apTUKynoB Ha4YnHaeTcd 3aHOBO

Crp. 5



('HAMPION

VINniocTpUPOBaHHbIit kaTanor 3anacHblx yacteit (06.05.2020) LMA4622(T6)

ApTukyn HaumeHoBaHMe L[ Ne [Aptukyn HaumeHoBaHue 3
21 60360090000 CanbHuk 22x35x7 BEpXHUiA 1 44 | 75520020000 Perynsarop 060poToB LieHTpobexHbIN | 1
23 | 60060520000 Bont M6x12 8 || 44-1 | 75520060000 Perynstop 06opoTos B cbope 1
24 | 75330070000 KpoHLuTeitH TonnmeHoro baka 1 45 | 25070010000 BTynka ocu perynstopa 1
25 | 60060550000 Bont M6x18 1 46 | 60200060000 LLlanba 6,5x12x1 1
26 | 60060530000 bont M6x14 2 47 | 75280020000 XOMYT KpenneHus ocu 1
27 | 75380900000 BbIkntouaTenb 3axuraHus 1 48 | 75270030000 Ocb perynstopa 1
28 | 60410770000 MpyxuHa 1 49 | 75240120000 KpblLLKka kapTepa 1
29 | 75160060000 Tara 1 50 | 380650335-0001 | CanbHuk 25x38X7 HUXHWIA 1
30 | 75290010000 Pbivar 1 51 | 60060590000 Bont M6x30 7
31 | 60200490000 LWanba 6,2x15x0,5 2 52 | GFB02000 Wanba ynnotHutensHas 10x16x1,5 1
32 | 380650338-0001 | CanbHuk 6x11x4 1 53 | 60061020000 Bont cnneHon M10x1,25x15 1
33 | 60300040000 LWnanHT 1 54 | 25200130050 opnoBuHa B cbope CO LLynom 1
34 | 60060730000 BonT ¢ kBagp. ronoskon M6x23 | 1 55 | 60060630000 Bont M6x50 1
35 | 75070040000 Tara 1 77 | 75500160000 KapTep 1
36 | 60450010000 Hepxatens Tpoca 1 101 | 75030110000 MMbINbHUK 1
37 | 75360010000 lMnacTuHa 1 102 | 75100030000 KnanaH canyHa 1
38 | 60410760000 [MpyxuHa 1 103 | 75720310000 [Mpoknaaka KnanaHa BeHT. kapTepa 1
42 | 75720240000 Mpoknagka KpbllwKkW kapTepa 1 104 | 75400030000 Kpblwuka 1
43 | 60280030000 LUTudhT HanpaBRsoLLMiA 2
< ]

N

N

.._J 19
-

Ne | Aptukyn HaumeHoBaHue L Ne | ApTukyn HaumeHoBaHue L
39 | 60200180000 LLanba 25,5x36x1 1 72 | 60400020000 KonbLio cTonopHoe 2
68 | 75130130000 KonbLo nopLuHeBoe nepeoe 1 73 | 60310010000 Manev, NopLUHst 1
68-1 | 75130150000 Konbla nopLuHessble, K-T 1 74 | 75120090000 MopLueHb nycTomn 1
69 | 75130140000 KonbLo nopLuHeBoe BTOpoe 1| 74-1 | 75130160000 MopueHb 65x37,5 1x1x2,5, k-T 1
70 | 75090060000 KonbLo macnockemHoe 2 75 | 75460070000 WaTyH 1
71 | 75000070000 PaclumputernsHoe KonbLo 1 76 | 75510750000 Konexsan 1

Crp. 6



Ne | ApTukyn HaumeHoBaHue Z | Ne | Aptukyn HaumeHoBaHue z
26 | 60060530000 Bont M6x14 5 | 86 | 75290050000 Ocb kopombicna 2
40 | 75250010000 Tapenka Tonkatens 2 | 87 | 75080040000 Kpblwka knanaHos 1
41 | 75470100000 Pacnpengan 1 | 88 | 75720300000 IMpoknaaka KpbILKK KnanaHoB 1
78 | 75720100000 lMpoknaaka ronosky LMNUHApa 1 1 89 | 75230031000 KopoMbICIO BbIMYCKHOMO KnanaHa 1
79 | 60280020000 LUTMdT HanpaBnsioLLmMi 2 | 90 | 60240290000 KonbLo cTonopHoe 2
80 | 75190040000 KnanaH BbInyckHOM 11 91 | 75230030000 KopoMmbICno BYCKHOTO KnanaHa 1
81 | 75170040000 KnanaH BnyckHo 11 93 | 75180010000 Cyxapb KknanaHa 2
82 | 75490090000 l'onoBKka UunuHapa 1] 94 | 60380090000 Mpy*uHa knanaHa 2
83 | 60050030000 Bont M8x45 4 | 95 | 60360130000 Konnayok MacnocsemHbIi 1
85 | 75350030000 LWraHra (Tonkatens) 2 | 96 | F7TRTC Cseva 3axuraHus 1
Ne | ApTukyn HaumeHoBaHue L || Ne | Aptukyn HaumeHoBaHue L
67 | 60080030000 LWnunbka M6x94 2 | 99 | 75540150000 rnywurens 1
97 | 60150100000 laka M6 2 || 100 | 75740020000 Mpoknagka rnywutens 1
98 | 75530030000 OKpaH rnyLumTens 1

Crp. 7




"HAMP JON VINniocTpUPOBaHHbIit kaTanor 3anacHblx yacteit (06.05.2020) LMA4622(T6)

Ne | ApTukyn HaumeHoBaHue Z | Ne | Aptukyn HaumeHoBaHue z
7 60140020000 laika M6 2 | 61 | 75730100000 Mpoknagka nog Kopnyc dunsTpa 1
56 | 25120060000 Kpbiwka BO3AYLIHOrO unbTpa 1 | 62 | 75410620000 KapbtopaTop 1
57 | 25300120000 OunbTp BO3AYLLHBIN 11 63 | 25210020050 Mpaitvep 1
58 | 25020050000 KaHan BeHTURALuMM kapTepa 1| 64 | 75730030000 Mpoknagka nog kap6opatop 1
59 | 25110100000 OcHoBaHve Bo3ayLuHoro ¢unbtpa | 1 || 65 | 25090010000 TennousonsaTop kap6ropaTopa 1
99-1 | 25120070000 BosgywHbi unbTp B cbope 1 | 66 | 75730020000 lMpoknaaka nog TeNon3onaTop 1
60 | 25030070000 LLnaHr canyHa 1| 67 | 60080030000 LUnunbka M6x94 2
15
g
.
I
Ne | Aptukyn HanmmeHoBaHue )2 Ne | Aptukyn HaumeHoBaHue z
3 | 25170110000 Mpobka TonnmeHOrO H6aka 1 10 | 25180230000 Bak TonnuBHbIiA 1
3-1 | 25170140000 lMpobka TonnmeHoro 6aka B cbope | 1 | 10-1 | 25180250000 bak TonnueHbIi B cbope 1
4 | 80010070000 OneMeHT NOPOIIOHOBIN canyHa 1 11| 25150010000 ®uUnbTP TONMMBHBIA 1
5 | 60440340000 YnnoTHuTenb npobku 6aka 1 12 | 60230020000 XomyTt 1
6 | 25250010000 XomyT npobku Gaka 1 13 | 25160010000 LLInaHr TonnmBHbIN 1
7 | 60140020000 laika M6 1 14 | 60230010000 XomyT 1
8 | 60190310000 LWanba 6,5x24x1,5 1 15 | 60240250000 Brynka 6,5x10x21 1
9 | 25310030000 Onopa baka 2

Crp. 8




"HAMP JON VINniocTpUPOBaHHbIit kaTanor 3anacHblx yacteit (06.05.2020) LMA4622(T6)

Ne | Aptukyn HaumeHoBaHue z Ne | Aptukyn HaumeHoBaHue z
11 60130020000 laika M6 3 20 | 75390240000 MaxoBuK 1
2 | 75430110000 Craptep 1 22 | 60080230000 Lnunbka 3
16 | 25190250000 Koxyx maxoBuka 1 84 | 25190210780 KpbllLka gBuratens 1
17 | 60140050000 lanka M14x1,5 1] 105 | 75370070000 MarxeTo 1
18 | 75210010000 CrakaH MaxoBuka 1] 106 | 60060580000 Bont M6x25 2
19 | 25040110000 KpbinbyaTka MaxoBuka 1

Crp. 9




